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Child labour is a problem which many governments wish to address.   Outline 
a number of
 measures which have been implemented to solve this problem and evaluate their strengths and weaknesses.
)Essay Question


Abstract A
The purpose of this study was to identify the psychosocial impact of child labour in Jordan, distinguishing between the impact on working school children, nonworking school children and working and non-schooled children. More than 351 million children across the world work. Emotional, behavioural and psychiatric problems in working children are a considerable public health problem in developing countries. A descriptive, comparative, cross-sectional design was used in this study. All data were collected in 2010. A total of 4008 children aged six to 16 years were interviewed. Of these, 2093 (52.2%) were nonworking school children, 896 (22.4%) working school children, and 1019 (25.4%) working and non-schooled children. Working school children reported psychosocial problems more often than working and non-schooled children. Child labour has a negative impact on children's psychosocial health and development. 
Abstract B
It is generally assumed that credit has a positive effect on children's schooling among poor households. This article shows that need not be the case when households obtain credit for investment purposes.  In fact, investment loans may not have any effect on the likelihood of schooling for children who work in their family business. Our estimates confirm that this is the case; credit used to finance investments has no effect on the odds of schooling for employed children. This may be because investment loans increase children's labour productivity, which in turn increases the opportunity cost of schooling. The results of this study suggest that improving access to credit may not, by itself, constitute a solution to child employment in developing countries.
Abstract C
There is a widespread consensus internationally, demonstrated in the UN Charter on the Rights of the Child (UNCRC) and subsequent policy documents, that children should be protected from work that is hazardous and harmful. This paper, based on doctoral research conducted with street-vending children and young people in Nigeria, argues that this approach fails to address the complex reality of children's lives in developing countries. Findings from interviews with child vendors and participant observation in markets in Enugu, Nigeria, demonstrate that vending is an essential part of children's everyday lives, organised alongside, not separate from, other areas of family life. The paper concludes that it is not helpful to impose developed-world ideas on children's lives in such a different context; the focus of attention should, it is proposed, be on finding out what children and young people think and how they might be better supported and protected within their working environments.

















Answers
Child labour is a problem which many governments wish to address.   Outline a number of measures which have been implemented to solve this problem and evaluate their strengths and weaknesses.
In this essay students will have to discuss different solutions to solve the problem of child labour.  They would have to discuss whether each solution was good or bad.

This essay questions as students to look at whether musical education
(1)	Most Relevant = Abstract B
One solution, the use of credit for poor families, is discussed in this article.  The article argues that it is not necessarily solution to the problem of child labour. 
(2)	Abstract C
This article argues that child labour is not necessarily a problem (example is street children in Nigeria).  Argues that child labour is a complex which needs to be analysed more.  Argues that any solutions should be made after asking the children what they need. 
The above arguments could be used when evaluating strengths and weaknesses of solutions.  However, it doesn’t offer any particular solutions so not as relevant as A.  Talking to children could be viewed as the first step of any solution. 
(3)	Least Relevant = Abstract A
[bookmark: _GoBack]This journal article focuses on the psychological impact of child labour.  It does not offer any solutions to child labour so it is not as relevant to the essay question.
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